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©e: SOHE0ISo+CHH(BFINZAILSEFH) (232
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
AbGHS T AN A 8,181,871 4,408,029 3,773,842
2 2,000,000 0 2,000,000
[= 429,000 0 429,000
2 5,752,871 4,408,029 1,344,842
st el 8,021,991 4,248,149 3,773,842
=2 2,000,000 0 2,000,000
= 429,000 0 429,000
2 5,592,991 4,248,149 1,344,842
SOZE0ISoHECZHH(BHIZANLESEEAH) 2,858,000 0 2,858,000
=2 2,000,000 0 2,000,000
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=2 2,000,000 0 2,000,000
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2 429,000 0 429,000
401 AlIEHIZ 20 2,858,000 0 2,858,000
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01 Al&HI 2,755,000 0 2,755,000
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02 22| 100,000 0 100,000
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2 70,000 0 70,000
(= 15,000 0 15,000
2 15,000 0 15,000
03 Al& 2 H 3,000 0 3,000
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2 2,000 0 2,000
(= 1,000 0 1,000
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BHIZANE 289 727,842 412,000 315,842
207 & ROH e 207,842 212,000 A4,158
01 g EAH 207,842 212,000 A4, 158
2Rt HMAAL Jlsd 207,842 212,000 A4, 158
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